Tableaux des Puissances de Dix (I)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

100 0,001 10 000 0,1

96

62

13

57

91

1000 10 100 10 000

91

97

41

44

10 10 000 1000 100

77

88

47

87

0,1 10 000 0,01 1 000

81

70

22

68

45
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Tableaux des Puissances de Dix (I) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 100 0,001 10 000 0,1
96 9600 0,096 960 000 9,6
62 6 200 0,062 620 000 6,2
13 1300 0,013 130 000 1,3
57 5700 0,057 570000 5,7
91 9100 0,091 910 000 9,1

X 1000 10 100 10 000
91 91 000 910 9100 910 000
97 97 000 970 9700 970 000
4 4 000 40 400 40 000
41 41 000 410 4100 410 000
44 44 000 440 4 400 440 000
+ 10 10 000 1 000 100
77 7,7 0,0077 0,077 0,77

2 0,2 0,0002 0,002 0,02
88 8,8 0,0088 0,088 0,88
47 4,7 0,0047 0,047 0,47
87 8,7 0,0087 0,087 0,87
+ 0,1 10 000 0,01 1 000
81 810 0,0081 8100 0,081
70 700 0,007 7000 0,07
22 220 0,0022 2200 0,022
68 680 0,0068 6 800 0,068
45 450 0,0045 4 500 0,045
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